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IT'S TIME TO PUT ON YOUR THINKING CAP

: The question is ... WHO WILL BE LANDING ON RUNWAY 097

Here is a very well-known riddle adapted to the aviation world.

Five pilots are having a stop-over at an airport. On the apron, their air-
: note down the elements just as you would in an actual flight. The diffe-
: rent ATIS have been edited to avoid giving away too many indications.
i Then fill in the grid with the help of these elements and the 15 clues
¢ below.

craft are parked in a line from left to right, from A1l to A5. Each aircraft
is of a different type. They have all planned different destinations and
have checked the ATIS at their respective airfields. No two pilots have
one thing in common...
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First, listen to the ATIS recordings on www.anglais-pour-voler.com and
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Type

Destination

Runway in use

Present weather or
Airfield information

1 — G-DAYS is a Europa.

2 — G-SSCA will be landing on runway 27.

3 — G-RWST’s planned destination has few clouds at 2200 feet.

4 - The BE5S is parked to the immediate left side of the DA42.

5 - Visibility at the BE58’s arrival airfield is 10 kms or more.

6 - The pilot who will be landing on runway 36 will do so in haze.

7 - The Robin will be landing in mist.

8 - The aircraft parked at the centre is going to the airfield where the
wind varies between 310° and 030°.

9 - G-BZI] is parked on Al.

10 - The pilot who will have to worry about the Danger area 141 is
parked next to the one who will be landing on runway 06.

11 - The pilot who will be landing on runway 21 is parked next to the
one who will be landing in mist.

12 - Find out the present weather at EGPA.

13 - NOSIG is expected at N 678]’s field of destination.

14 - G-BZI] is parked next to a C172.

15 - The pilot who will have to worry about the Danger area 141 is
parked next to the one who will be flying to the airport with a transition
level of 50.



